Sign-like methods for CAREs

Matrix sign iteration

$$X_{k+1} = \frac{1}{2}(X_k + X_k^{-1}), \quad X_0 = \mathcal{H}.$$

It is not difficult to see that X_k is Hamiltonian at each step (i.e., $JX_k = -X_k^*J$). Just show that

- ▶ If M is Hamiltonian, then M^{-1} is Hamiltonian, too.
- ▶ If M_1 , M_2 are Hamiltonian, then $M_1 + M_2$ is Hamiltonian, too.

(Guiding idea: Hamiltonian matrices are 'like antisymmetric ones': properties that you expect for antisymmetric matrices will often hold for Hamiltonian, too.)

H,*J=-JH, -0 JH,"=-H,*J

· Ha è Honiltoniena:

$$\frac{H^{*}J = -JH}{J} = -J^{*} = -J$$

$$(JH)^{*} = -(H^{*}J) = H^{*}J^{*}$$

JH= -6-A' Q

Structure-preserving sign iteration

In machine arithmetic, the X_k won't be exactly Hamiltonian — unless we modify our algorithm to ensure that they are.

Recall: X is Hamiltonian iff Z = JX is symmetric.

Rewrite the iteration in terms of $\overline{Z_k := JX_k:}$

$$Z_{k+1} = \frac{1}{2}(Z_k + JZ_k^{-1}J), \quad Z_0 = J\mathcal{H}.$$

Will preserve symmetry exactly (assuming the method we use for inversion does).

We can incorporate scaling.

It is in some sense 'working on even pencils': given an even pencil $\lambda J - Z_k$, construct $\lambda J - Z_{k+1}$ (will see more of this idea in the following).

JA-ZK le gli stossi entorelori

di J-'ZK=XK

Probleme del mahodo: Serve invertire X_k o Z_k a ogni passo. Se Zo, o Xo, è plassi singolare, allora posso fare error el primo posso e non recupero più.

Towards doubling

Recall: in the doubling iteration, if we set $Y_k = (I - X_k)^{-1}(I + X_k)$, then $Y_{k+1} = -Y_k^2$.

In an ideal world without rounding errors, we could compute Y_0, Y_1, Y_2, \ldots , and then get the stable invariant subspace as X_0, X_1, X_2, \ldots

We can do something similar, if we work in a suitable format.

Xo ha vi autovali in CHP, in in RHP

Yo ha vi autoval. can
$$|\lambda| < 1$$
, in con $|\lambda| > 1$
 $|\lambda| = (|\lambda|)^{2^k}$ he autoval. $|\lambda|^2 = |\lambda|^2$ in tenden a $|\lambda|$

Vogtions grere ad agri pesso $Y_{k} = \begin{bmatrix} I & G_{k} \\ O & F_{k} \end{bmatrix}^{-1} \begin{bmatrix} E_{k} & O \\ H_{k} & I \end{bmatrix}$ per opportune matrici Ek, Fk, Gk, Hk Yo = (I-74) (I+74) Trucco: cerco una matrice M& (2nx2n invertibile $M\begin{bmatrix}I-\mathcal{H} & I+\mathcal{H} \\ 2n & 2n\end{bmatrix}^{2n} = \begin{bmatrix}I & G_o & E_o & O \\ O & F_o & H_o & I\end{bmatrix}^{2n}$

Se vele questo identità, allora

$$M(I-V) = \begin{bmatrix} I & G_0 \\ O & F_0 \end{bmatrix}$$
 $M(I+V) = \begin{bmatrix} E & O \\ H_0 & I \end{bmatrix}$
 $(I-V)^{-1}M^{-1}M(I+V) = \begin{bmatrix} I & G_0 \\ O & F_0 \end{bmatrix}^{-1}\begin{bmatrix} E_0 & O \\ H_0 & I \end{bmatrix}$

parellolo del fotto du se B è auntisimmedica, del solora (1-B)-1 (1+B) è ortogonale] (perli B à del tipo QN-QT con A: immeg. Provi, e 1+x nombre il nel cerdio unitorio)

Lemme: Se De Hamiltonione, Th* J=- Jll, allore S=(1-12)-1(1+12) è simpletice, cioè 5 75 7 (1-12)-*(+12*)J(1-12)(1-12)-'=J (+2e)* J(H2e) = (1-2e)* J(1-2e) J+""X" J+ J N+" W*JN="8-"N" J-J"N+"X*JN 27x*5=-25x 1/ per clé equivale a Il Hawiltoniana

(Volendo, è un risultato su pencil:

Def. une pencil
$$\Lambda \mathcal{E} - A$$
 è simplettice se $\mathcal{E} \mathcal{F} = A \mathcal{F} \mathcal{A}^*$

(C) $(\mathcal{E}^{-1}A)^* \mathcal{F} (\mathcal{E}^{-1}A) = \mathcal{F}$)

Quado è de $[\mathcal{G}_{0}^{-1}]^* (\mathcal{E}_{0} \circ \mathcal{F}_{0})$ à simplettice?

Quado $(\mathcal{E}_{0} \circ \mathcal{F}_{0})^* (\mathcal{F}_{0} \circ \mathcal{F}_{0}) = [\mathcal{G}_{0} \circ \mathcal{F}_{0})^* (\mathcal{F}_{0} \circ \mathcal{F}_{0})^*$
 $[\mathcal{G}_{0} \circ \mathcal{F}_{0}]^* (\mathcal{F}_{0} \circ \mathcal{F}_{0}) = [\mathcal{G}_{0} \circ \mathcal{F}_{0})^* (\mathcal{F}_{0} \circ \mathcal{F}_{0})^*$

 $\begin{bmatrix} O & E_{o} \\ -1 & N_{o} \end{bmatrix} \begin{bmatrix} E_{o}^{*} & N_{o}^{*} \\ O & 1 \end{bmatrix} = \begin{bmatrix} -G_{o} & 1 \\ -F_{o} & 0 \end{bmatrix} \begin{bmatrix} 1 & O \\ G_{o}^{*} & F_{o}^{*} \end{bmatrix}$ $\begin{bmatrix} O & E_{o} \\ -E_{o}^{*} & -N_{o}^{*} + N_{o} \end{bmatrix} = \begin{bmatrix} -G_{o} + G_{o}^{*} & F_{o}^{*} \\ -F_{o} & O \end{bmatrix}$

5) Go=Go, No=Ho, Eo=Fo

Standard Symplectic Form

Goal: write
$$Y_0 = (I - \mathcal{H})^{-1}(I + \mathcal{H})$$
 as

$$\underbrace{ \left(Y_0 = \begin{bmatrix} I & -G_0 \\ 0 & F_0 \end{bmatrix}^{-1} \begin{bmatrix} E_0 & 0 \\ -H_0 & I \end{bmatrix}}_{} \right)$$

Can be rewritten as: find M such that

$$M\left[(I-\mathcal{H})\quad (I+\mathcal{H})\right] = \begin{bmatrix} I & G_0 & E_0 & 0\\ 0 & F_0 & H_0 & I \end{bmatrix}.$$

Solution: M is the inverse of block columns (1,4).

Structural properties: if
$$\mathcal{H}$$
 is Hamiltonian, Y_0 is symplectic. If Y_0 is symplectic, $E_0 = F_0^*$, $G_0 = G_0^*$, $H_0 = H_0^*$.

Moreover, if $G \succeq 0$, $H \succeq 0$, then $G_0 \succeq 0$, $H_0 \preceq 0$.

(All these manipulations can be reformulated as left-multiplication of the pencil $(I - \mathcal{H}, I + \mathcal{H})$.)

$$-M_{k}^{-1}M_{k}M_{k}^{-1}M_{k}=-M_{k}^{-1}M_{k}M_{k}M_{k}=$$

$$=\left(-M_{k}M_{k}\right)^{-1}\left(N_{k}M_{k}\right).$$

$$M_{k}^{-1}M_{k}M_{k}M_{k}M_{k}M_{k}=N_{k}M_{k}M_{k}M_{k}=N_{k}M_{k}M_{k}M_{k}$$

$$\begin{split} M_{k+1} &= \left(-\hat{M}_{k} \right) M_{k} = \begin{bmatrix} I & \hat{G}_{k} \\ O & \hat{F}_{k} \end{bmatrix} \begin{bmatrix} I & G_{k} \\ O & \hat{F}_{k} \end{bmatrix} = \begin{bmatrix} I & G_{k+1} \\ G_{k+1} & G_{k-1} \end{bmatrix} \\ &= \begin{bmatrix} I & E_{k}G_{k} (I - H_{k}G_{k})^{-1} \\ O & -F_{k} (I - H_{k}G_{k})^{-1} \end{bmatrix} \begin{bmatrix} I & G_{k} \\ O & F_{k} \end{bmatrix} = \begin{bmatrix} I & G_{k+1}E_{k}G_{k}(I - H_{k}G_{k})^{-1}F_{k} \\ O & -F_{k}(I - H_{k}G_{k})^{-1}F_{k} \end{bmatrix} \\ M_{k+1} &= \hat{M}_{k} = \begin{bmatrix} \hat{E}_{k} & O \\ \hat{H}_{k} & I \end{bmatrix} \begin{bmatrix} E_{k} & O \\ H_{k} & I \end{bmatrix} = \begin{bmatrix} E_{k}(I - G_{k}H_{k})^{-1}E_{k} \\ \vdots \\ H_{k} + F_{k}H_{k}(I - G_{k}H_{k})^{-1}E_{k} \end{bmatrix} \\ &= \begin{bmatrix} -E_{k}(I - G_{k}H_{k})^{-1}E_{k} \\ \vdots \\ H_{k} + F_{k}H_{k}(I - G_{k}H_{k})^{-1}E_{k} \end{bmatrix} \end{bmatrix}$$

Structured doubling alporithm

$$\begin{bmatrix}
E_0 & G_0 \\
N_0 & F_0
\end{bmatrix} = \begin{bmatrix}
I-A & -G \\
Q & I-A^T
\end{bmatrix} = \begin{bmatrix}
I+A & G \\
Q & I+A^T
\end{bmatrix}.$$

For $t = 0, 1, 2, ...$

$$\begin{bmatrix}
E_{k+1} = -E_k (I-G_k)I_k \\
F_{k+1} = -F_k (I-H_kG_k)I_k
\end{bmatrix} = \begin{bmatrix}
E_k & F_k \\
G_k & F_k
\end{bmatrix}$$

Character

$$\begin{bmatrix}
E_k & F_k \\
F_k & F_k
\end{bmatrix} = \begin{bmatrix}
E_k & F_k \\
F_k & F_k
\end{bmatrix} = \begin{bmatrix}
E_k & F_k
\end{bmatrix} =$$

Struttura: ad agni possa abbiemo: (1) Ex=Fx (1) Gx=Gx (3) Hx=Hx (simple H: cità) 2 andle 0x60x6, x62x... (4) 0 % Ho % H, % H2 % ... dim: Per industone
(1): Facile, berte fore f_{k+1} = f_k * (1- f_k Gk) f_k = =EK (I-GKHK) EK (2) C. basta du dre GK(I-HKGK) à simmetrica Se posso espondue la serie, vole GK(1-HKGK) = GK+ GKHEGK+ GKHKGKH KGK+ =(|-GKHK)7GK

Anche se non posso espandue la serie,

vale
$$G_{k}(I-H_{k}G_{k})^{-1}=(I-G_{k}H_{k})^{-1}G_{k}$$

(I un'identità: $(I-G_{k}H_{k})G_{k}=G_{k}(I-H_{k}G_{k})$

Quasto mi dice en che de

 $(G_{k}(I-H_{k}G_{k})^{-1})^{*}=(I-G_{k}H_{k})^{-1}G_{k}=G_{k}(I-H_{k}G_{k})^{-1}$

à simmetrice

(3) à upusle a (2)

(4) Mi basta dire che $G_{k}(I-H_{k}G_{k})^{-1} \geqslant 0$

Posse surpre scrivere $G_{k}=R_{k}R_{k}^{*}$, a ho

G_(1-H_G)-1=R_K(I-R*H_KR_K)-1R*.

Se HKTO, allone Rx(I-R*HkRk)-1R* >0 (5) upole a (4). Notable de le inversioni che serono si riescono e fare, perché R*HKRK >0, poindi I+R*HKRK>0, e similmente anche I-GKHK non sons mei Singolari (

(GEHK la gli Stessi outoval. di HKGK

e di RKHKRK, che sono tulti SO.)

Co Sto: l'eq. per FK+1 non serve (è il tressposto
di EK+1). Le inversioni si vidu cono a uno sola,

poi di attentione ci si viduce a invartire una metrice simmetrice.

Costo ~ compossible con l'iterez. segno

(in cui c'i de invertire une motive 2h x 2h)

per ché I-HKGK = (I-GKHK)*, e anzi con m

Doubling algorithm

Plan Given
$$Y_k = \begin{bmatrix} I & G_k \\ 0 & E_k^* \end{bmatrix}^{-1} \begin{bmatrix} E_k & 0 \\ H_k & I \end{bmatrix}$$
, compute

$$Y_{k+1} = -Y_k^2 = \begin{bmatrix} I & G_{k+1} \\ 0 & E_{k+1}^* \end{bmatrix}^{-1} \begin{bmatrix} E_{k+1} & 0 \\ H_{k+1} & I \end{bmatrix}.$$

Similar to the 'inverse-free sign method' described earlier.

If
$$Y_k = \mathcal{M}_k^{-1} \mathcal{N}_k$$
, then $-Y_k^2 = -\mathcal{M}_k^{-1} \mathcal{N}_k \mathcal{M}_k^{-1} \mathcal{N}_k = \mathcal{M}_k^{-1} \widehat{\mathcal{M}}_k^{-1} \widehat{\mathcal{N}}_k \mathcal{N}_k = (\widehat{\mathcal{M}}_k \mathcal{M}_k)^{-1} (\widehat{\mathcal{N}}_k \mathcal{N}_k)$, where $\widehat{\mathcal{M}}_k, \widehat{\mathcal{N}}_k$ satisfy $\widehat{\mathcal{M}}_k^{-1} \widehat{\mathcal{N}}_k = -\mathcal{N}_k \mathcal{M}_k^{-1}$, i.e.,

$$\begin{bmatrix} \widehat{\mathcal{M}}_k & \widehat{\mathcal{N}}_k \end{bmatrix} \begin{vmatrix} \mathcal{N}_k \\ \mathcal{M}_k \end{vmatrix} = 0.$$

Doubling: inversion trick

$$\begin{bmatrix} I & \widehat{G}_k & \widehat{E}_k & 0 \\ 0 & \widehat{F}_k & \widehat{H}_k & I \end{bmatrix} \begin{bmatrix} E_k & 0 \\ H_k & I \\ I & G_k \\ 0 & E_k^* \end{bmatrix} = 0$$

holds if

$$\begin{bmatrix}
\widehat{G}_{k} & \widehat{E}_{k} \\
\widehat{F}_{k} & \widehat{H}_{k}
\end{bmatrix} = -\begin{bmatrix}
E_{k} & 0 \\
0 & E_{k}^{*}
\end{bmatrix} \begin{bmatrix}
H_{k} & I \\
I & G_{k}
\end{bmatrix}^{-1}
= \begin{bmatrix}
E_{k} & 0 \\
0 & E_{k}^{*}
\end{bmatrix} \begin{bmatrix}
G_{k}(I - H_{k}G_{k})^{-1} & -(I - G_{k}H_{k})^{-1} \\
-(I - H_{k}G_{k})^{-1} & H_{k}(I - G_{k}H_{k})^{-1}
\end{bmatrix}.$$

Doubling: the formulas

Putting everything together,

$$\begin{bmatrix} E_{k+1} & 0 \\ H_{k+1} & I \end{bmatrix} = \begin{bmatrix} -E_k(I - G_k H_k)^{-1} & 0 \\ E_k^* H_k(I - G_k H_k)^{-1} & I \end{bmatrix} \begin{bmatrix} E_k & 0 \\ H_k & I \end{bmatrix}$$
$$= \begin{bmatrix} -E_k(I - G_k H_k)^{-1} E_k & 0 \\ H_k + E_k^* H_k(I - G_k H_k)^{-1} E_k & I \end{bmatrix}$$

and an analogous computation gives E_{k+1}^* , G_{k+1} :

Structured doubling algorithm

$$\begin{split} E_{k+1} &= -E_k (I - G_k H_k)^{-1} E_k, \\ G_{k+1} &= G_k + E_k G_k (I - H_k G_k)^{-1} E_k^*, \\ H_{k+1} &= H_k + E_k^* H_k (I - G_k H_k)^{-1} E_k. \end{split}$$

SDA: details

Note that (even when the middle term does not converge)

$$G_k(I-H_kG_k)^{-1} = G_k+G_kH_kG_k+G_kH_kG_kH_kG_k+\cdots = (I-G_kH_k)^{-1}G_k,$$

and this matrix is symmetric. If $G_k = B_k B_k^*$, then it can also be rewritten as $B_k (I - B_k^* H_k B_k)^{-1} B_k^*$ (inverting a symmetric matrix).

Monotonicity If
$$H_k \leq 0$$
 then $G_k(I - H_k G_k)^{-1} \geq 0$. Hence, $0 \leq G_0 \leq G_1 \leq \ldots$, and $0 \geq H_0 \geq H_1 \geq H_2 \geq \ldots$

Cost As much as a $2n \times 2n$ inversion $M^{-1}N$, if you put everything together. Unlike the sign algorithm, we have a bound $\sigma_{\min}(I - H_k G_k) \ge 1$.

SDA: the dual equation

To analyze convergence, we need to introduce another matrix. Let Y be the matrix such that

$$\mathcal{H} \begin{bmatrix} -Y \\ I \end{bmatrix} = \begin{bmatrix} A & -G \\ -Q & -A^* \end{bmatrix} \begin{bmatrix} -Y \\ I \end{bmatrix} = \begin{bmatrix} -Y \\ I \end{bmatrix} \widehat{\mathcal{R}}$$

is the anti-stable invariant subspace of \mathcal{H} , i.e., $\Lambda(\widehat{\mathcal{R}}) \subset RHP$.

Why does it exist? Because $\begin{bmatrix} I \\ Y \end{bmatrix}$ spans the stable subspace of $\mathcal{H}^* = -J\mathcal{H}J$, and we can repeat our arguments on it (in the version with (A,B) and (A^T,C^T) controllable)

SDA: convergence (intuitively)

Intuitive view E_k approximately squared at each time. Hence

$$\mathcal{H}_k = \begin{bmatrix} I & G_k \\ 0 & E_k^* \end{bmatrix}^{-1} \begin{bmatrix} E_k & 0 \\ H_k & I \end{bmatrix}$$

has n eigenvalues $\to 0$ and n that $\to \infty$. $\ker \mathcal{H}_k \approx \begin{bmatrix} I \\ -H_k \end{bmatrix}$, so $-H_k \to X$.

Dually, "ker \mathcal{H}_k^{-1} " (a thing that shouldn't exist...) $\approx \begin{bmatrix} -G_k \\ I \end{bmatrix}$, so $G_k \to Y$.

Cohvergense: Ek-0 (solvation della CANE) stabilizzante HK-0-X GK-> Y dove Y è la matrice tale che The T = T R è il sottosp. inveniente

anti-stabile (associato agli autoral nel RHP)

La convergence à quadratica.

(Y existe per le stesse motive per cui [U1] ~ (1), su JNJ).

$$\begin{aligned}
Y_{o}\begin{bmatrix} 1 \\ x \end{bmatrix} &= \begin{bmatrix} 1 \\ x \end{bmatrix} R & \Lambda(R) &= LHP \\
Y_{o}\begin{bmatrix} 1 \\ x \end{bmatrix} &= \begin{bmatrix} 1 \\ 1 \end{bmatrix} (1-R)^{-1}(1+R) \\
dove & (I-R)^{-1}(I+R) &= S & h. & autoval. & nel \\
& cerclio & unitario, & p(S) < 1
\end{aligned}$$

M(R) = LHP

$$Y_{k}\begin{bmatrix}1\\X\end{bmatrix} = -(Y_{0})^{2^{k}}\begin{bmatrix}1\\X\end{bmatrix} = \begin{bmatrix}1\\X\end{bmatrix}S^{2^{k}}$$

$$\begin{bmatrix}1\\X\end{bmatrix} = -\begin{bmatrix}1\\X\end{bmatrix}S^{2^{k}}$$

$$\begin{bmatrix}1\\X\end{bmatrix} = -\begin{bmatrix}1\\X\end{bmatrix}S^{2^{k}}$$

$$\begin{bmatrix}1\\X\end{bmatrix} = -\begin{bmatrix}1\\X\end{bmatrix}S^{2^{k}}$$

Pulo skoso notivo pu wi (I-CKHK) HK & O

Se sopessi de anche GK à limbel, GKTL, allore posso concludre che $E_{k} = (\underbrace{1 + G_{r} \times}) (-S^{2^{k}}) \longrightarrow \bigcirc$ limitele tende a 0 quedraticemente HK+X=(S2+) -- (-S2+)-DO quedraticamente Per dinostrone du Gx limitato, si fe lo Stesso regionamento usato per din. de Hx è limitato portendo de "H]= [Y] R

SDA convergence (formally)

More formally

$$\mathcal{H}_0 \begin{bmatrix} I \\ X \end{bmatrix} = (I - \mathcal{H})^{-1} (I + \mathcal{H}) \begin{bmatrix} I \\ X \end{bmatrix} = \begin{bmatrix} I \\ X \end{bmatrix} (I - \mathcal{R})^{-1} (I + \mathcal{R}).$$

where $S = (I - R)^{-1}(I + R)$ has all eigenvalues in the unit circle.

$$\begin{bmatrix} I & G_k \\ 0 & E_k^* \end{bmatrix} \begin{bmatrix} I \\ X \end{bmatrix} = \begin{bmatrix} I \\ X \end{bmatrix} \begin{bmatrix} E_k & 0 \\ H_k & I \end{bmatrix} \begin{bmatrix} I \\ X \end{bmatrix} S^{2^k}.$$

which implies

$$E_k = (I + G_k X)S^{2^k},$$

 $H_k + X = E_k^* X S^{2^k} = (S^{2^k})^* (I + X G_k)S^{2^k} \succeq 0.$

The same computation on the dual equation gives $G_k \leq Y$, so G_k is bounded and $E_k \to 0$, $H_k + X \to 0$ (quadratically as S^{2^k}).